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(E) SFaRd o [B]
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e. @RY
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Y 1 AfEE e A & nfda famar mar

(A) ot R g (B) 5 it &g

(C) st =it a1 (D) #ft aiten 7

(E) SR o [D]
o uget A st ST U, fiR ARaRT

¥R & # wrars Fr a - Fe A @ wad

SugH fager |

(A) SR (B) AR

(C) TR (D) SR

(E) 3rgaRa us [A]
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() SraRd o [D]
fPrafaf@a d§ @ & a1 vda ek wra § Ra
&

(A) A3 et (B) ATS=E /YT

(C) A= @i (D) AT TR

(E) SrfaRa ust [C]
IR, wfer udd, dur aifenf, 79 agrt dwad
yrd & Pafafea & @ g ax & syengfa
fasteand &2

(A)Rdg gudE

(B) ¥R@ &1 UTaZIdHa TSR

(C) 9RA & IR} Fe=

(D) 9RdTa Foerd

(E) iR Uy [B]
frafafes 4 4 Rt o & a2/
Frgera =t e men &2
frafaf@a # @ v g e

(A) TG eh T AT & Sreme

(B) 157 fagfaerer & Ferafa

(C) I= rurera & g Ararefar

(D) A7 fafe 3

(E) 3rFaRd g%t [C]
U & dfaur & Aqedg 323 & dgd, U] dlah
a1 i &1 Fved ¢ fo ag wfdad srahr zm
fore M @ & AR | Rt wfadea wqa 2

(A) IrsauTed (B) faeraen

(C)rgufa (D) ewht
(SERGLEGRE] [A]

Complete the sentence given by choosing
the most appropriate word: A person who
admires/loves himself/herself too much is
a-

(A) Narcisus (B) Novice
(C) Numismatist (D) Narcissist
(E) Question not attempted [D]
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59.

60.

61.

62.

63.

64.

Choose the word opposite in meaning to-
SUSCEPTIBLE

(A) Immune (B) predictable
(C) unpredictable (D) incredible
(E) Question not attempted [A]

Choose the word similar in meaning to the
underlined word:

It is exasperating to listen to the
suggestions of my neighbour about
international affairs of which he knows

nothing.

(A) amusing (B) boring

(C) frustrating (D) disappointing

(E) Question not attempted [C]

Choose the most appropriate option to
complete the sentence:

The language of a circular is:

(A) emotional (B) objective

(C) round about (D) vague

(E) Question not attempted [B]
Choose the most appropriate word to
complete the given sentence:

The City Centre Mall was crowded

tourists.
(A)of (B) from
(C) with (D) by
(E) Question not attempted [C]
AT &Y ¥ & AT ToTeur’ oz & v
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aﬁﬁﬁaw [A]
awia@aﬁ w7 1 et oz 2-

(A) (B) It
(C)Eg@trr—r

(D) s

(E) SrfaRe oy [A]
e A o' o FAafaf@a & al-w s
Gﬁhiﬁé’

\) Theu (B) W
(C)amm (D) &

(E) srgafta us [A]
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(A) ST 99 571 @ FH g1 8

(B) ITehT Y8 &5thed oTet & &hH §1d1 8
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dieet v RS urg 8 -

(A) B 3R e &t (B)ﬁqaﬂzégﬁ

(C) diter iRk P & (D) iR 3R fSien i

(E) IrTafd us

ﬁa-ﬁlﬂm rafe Puerm f sugea aafis
(A) ST ST (B) osfthet

C)ngia:w (D) urt & Foem

(E) 3raRa v [A]
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(T (D)ézéw

(E) SFTaRe o [B]
fPrafaf@a & | &t vada &1 haes 78 &2

(A) THSTEH () (B) gHQua ()

(D) e ()

(E) SR s [l



82.

83.

84.

85.

86.
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1B (Zettabyte) SRTaR &:

(A) 1024 ZB

(B) 1024 KB

(€) 1024 GB

(D) 1024 EB

(E) SrfaRd us [D]
arger 7 Rfge Suwt -

(A) 3o (B) 31

(€) 3‘3 (D) =¥

(E) SrgaRa s [C]
freafefea arat § sipg aren ¢-

(A) gg HRHT gl

(B) 33 7 At

(C) Fea1 A1 o 7Tl H &1

(D) 3T o fAT|

(E) SrRa us [B]
Choose the most appropriate English
translation of the given sentence

I9T 3y forea for 82

(A) What has he been insulted by?

(B) He is insulted by whom?

(C) Has he been insulted?

(D) Who has insulted him?

(E) Question not attempted go [D]
Choose the most appropriate reported
form of the given sentence:

"Do you realize that the shoes you are
wearing aren't a pair?”, I asked.

(A) I told him that his shoes aren't a pair.

(B) I asked him if he realize that his shoes
were not a pair.

(C) I asked him if he realized that the shoes
he was wearing weren't a pair.

(D) I asked that was he aware that his shoes
aren't a pair?

(E) Question not attempted [C]
Choose the most appropriate option to fill
in the blank:

"Is dad in?"

"No, he isn't. He

ago. He yet."
(A) Left, has not returned
(B) Leaves, didn't return
(C) Will have, has not returned
(D) Leave, not returned

(E) Question not attempted [A]

home an hour
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Choose the most appropriate option to fill
in the blank:
By tomorrow afternoon,
carrying medicines for
off for Ukraine.
(A) will be taking
(B) will have taken
(C) takes
(D) will take
(E) Question not attempted [B]
'faww’ 2rez a1 | - Rz @-
A fa+ lsn:r CELER:
Q) fa: + (D)fa + gm

(A)

(C

(E)oaﬂﬁaw [D]
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(

the plane
war victims
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4
¥ gl -
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(E) SrgaiRd us [D]

&HA & 91 200 2T ot Iq= 5% TRy I ot
15% ¥Rl o &t 3R Fo R & Laf wm

Y S U WM S
SN

(A) 110 (B) 120
(€) 130 (D) 100
E) SrfRa us [A]
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TATg T UR AR Agar afafa & Rome &

MAJFIAFYAF TGIHRE
(A) aft e wwnal a1 srftrgwon feva s 8,
e a¥ & MR g dean @ ARy
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(C) Gargdt TsT A | Auiifaeh el i T TR
R 9rfferd

D) Py damdt I & @H W fgwsi aawn
GGl

(E) STaRa u% [A]
fr=fefda d @ frg dftum @ yrdg @fum &
T & A P Rgiat =t anfder o man

fFafaf@a 4 4 g e s oo od &2
= 4 @ ga’ Suga faeea g4
(A)amra:ﬁatﬂum(s)qéaﬁu

(SERSEGREN [D]
tﬁtﬂma‘hﬁmﬁ%aﬁﬂﬁm#ﬁmm
Ta?
(A) FraeEed! (B) et
(C) A (D) et
(E) Srgand wan [B]
ITeheeh qdd Aoft @ fse= areft afRat st
feanaff # gt & o Rmfaf@a & g var &
e HUaTg dF ufasy &1 Sergvur 8?7
(A) Sifrehgt (B) ggfih
(C) 3y (D) STeAIgHT
(E) 3rF=Rd o [C]




Read the passage and answer the

questions that follow by choosing the

correct option. (Q. 107 to 111)

Experts in climatology and other scientists
are becoming extremely concerned about
the changes to our climate which are taking
place. Admittedly, climate changes have
occurred on our planet before. For example,
there have been several ice ages of glacial
periods.

These climatic changes, however, were
different from the modern ones in that they
occurred gradually and, as far as we know,
naturally The changes currently being
monitored are said to be the result not of
natural causes, but of human activity.
Furthermore, the rate of change is becoming
alarmingly rapid.

The major problem is that the planet appears
to be warming up. According to some
experts, this warming process, known as
global warming, is occurring at a rate
unprecedented in the last 10,000 years. The
implications for the planet are very serious
Rising global temperatures could give rise to
such ecological disasters as extremely high
increase in the incidence of flooding and of
droughts. These in turn could have a harmful
effect on agriculture.

Itis thought that this anusual warming of the
Earth has been caused by so-called
greenhouse gases, such as carbon dioxide,
being emitted into the atmosphere by car
engines and modern industrial processes,
for example. Such gases not only add to the
pollution of the atmosphere, but also create
a greenhouse effect, by which the heat of the
sun is trapped. This leads to the warming up
of the planet.

Politicians are also concerned about climate
change and there are now regular summits
on the subject, attended by representatives
from around 180 of the world's industrialized
countries. Of these summits, the most
important one took place in Kyoto inJapan in
1997. There it was agreed that the most
industrialized countries would try to reduce

107.

108.

109.

the volume of greenhouse gas emissions
and were given targets for this reduction of
emissions.

It was also suggested that more forests
should be planted to create so-called sinks to
absorb greenhouse gases. At least part of
the problem of rapid climate change has
been caused by too drastic deforestation.
Sadly, the targets are not being met. Even
more sadly, global warming about climate
changes are often still being regarded as
scaremongering.

Identify the correct statements

a. The ice ages or glacial periods are
examples of climate changes in the modern
times.

b. In the past, climate changes occurred
gradually and naturally.

¢. Rising global tempratures can cause more
flooding and droughts.

d. Greenhouse gases are given out by plants.
e. The cdlimate changes today are dissimilar
to those of the past. e of the past.

Choose the most appropriate answer from
the options given below:

(A)a, band conly. (B)b, a and donly.

(C)c, d andre only. (D)b;cand eonly.

(E) Question not attempted [D]
The greenhouse effect is caused when

(A) The roof is covered with green plants to
keep the building cool
(B) The gases like carbon-dioxide trap the
heat of the sun in the air

(C) The green coloured glass or mesh is used
to cover the plants

(D) The green trees form a canopy in the
forest

(E) Question not attempted [B]
Which of the following were not
suggested at the Kyoto summit?

a. Most industrialized countries would
reduce emissions.

b. More forests should be cut to create the so
called sinks.

C. The automobile industry should roll out
electric vehicles.

e ————————— |
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1.

112.

113.

114.

d. Targets were set to reduce the volume of
greenhouse gas emissions.

e. the rate of industrialization should be |

contained.

Choose the most appropriate answer from
the options given below:

(A)b,cand donly. (B)c, dand e only.
()b, candeonly, (D)a, band conly.

(E) Question not attempted €]
The implications of an unprecedented
rate of are very serious.

(A) Global warming (B) Ecological disaster
(C) Kyoto summit (D) Flooding & draughts
(E) Question not attempted [A]
Match List-I with List-II

List-I (Words) List-II (Meaning)

I. Forests land, which
absorbs carbon-
dioxide from the air
II. That which has
never happened
before

III. The deliberate

a. Unprecedented

b. Implications

c. Sinks spreading of
frightening rumours

d. Scare IV. Something that is

mongering suggested

Choose the most appropriate answer from

(A) a1, b1V, €1, d-I1i(B) a-111, b-1V, ¢-I1, d-I
(C) a-1v, b-11I, ¢-11, d-I(D) a-1, b-1I, ¢-III, d-IV
(E) Question not attempted [A]

AT 1 19T A uRum=t & 2rgr (R eifte
TRAEH) & A9 @ ST I 82

(A) HrR (B) TR

(C) (D) sfteraren

(E) SrfaiRd u [D]

T # garad! a9 e & dgd o af o
smaifora g arelt am | i deal H gAaw

e fhaft g2 = & & 9 Sugad fadea 741
(A)3 (B)2

(€)1 (D)4

(E) SrgaRa o [D]
Tt-1 Y -1 @ gefera fifs:

Tt (@ e) G-I ()

a. 3 EY L. T

115.

116.

117.

118.

119.

120.

b. Fefg 1L 5%

C. 3 111 agelife

d. ggafor IV, sregdftvmg

4t Ry "y Reeat & & walfds Sugaa s
gfie:

(A) a-11I, b-1, ¢-1I, d-1V
(B) a-II, b-1II, c-1V, d-I
(C)a-1V, b-1ll, ¢-I, d-II
(D) a-1, b-1V, ¢-I11, d-11

(E) SrgaRa mar [c]
'‘FRA A H T B

(A& (B) 3

(C) st (D)d

(E) 3rTaRa us [B]
frafaf@a & smr & gafaard ere w-1 82
(A) g (B) F2H

(C) 3ig (D) 3rafa

(E) Srgd wsy [B]
FO dsh e ufeRr & IR feen Y ok 7@ forg
§U @S §| FWer A1 B & 34d worafas A arfga
oR @ 208 W AR A, e H R wwm 9 8
WH R @21 81 fE e, $2rH & @it R g
WH R @21 g @ if § dewt & o dE=n
T«

(A) 62 (B) 64

(C) 66 (D) 60

(E) iR [B]
chTNRE AP F AT FBEEAUERE = &
aifeft e R ag) day wida ¥ deayTe gan

e & ? & @A R FE e on gear &7
LANGUAGE : PCRIYCKG :: COMPUTER :?

(A) GQRRYVIT (B) GQQRYVIT

(C) GQQRYSIT (D) GQMNYVIT

(E) SraRa us [B]
2 & é el F Ryt Hi wer g

(A) 29 (B) 31

()17 (D) 27

(E) 3aRa us [A]

Choose the word similar in meaning to-
TENACIOUS N

(A) modest (B) resolute
(C) malign (D) timid
(E) Question not attempted

[B]
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122.
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124.

125.

126.

127.

128.

129.

fafef@a § @ s FgR &1 @ F e
Rasw i a

(A) 39T B (B) Siraf&e

(C) AifAeY (D) g

(E) Srafd us [C]
2@ @t PR Rew & fifYa Jueat & au
Wifaes art @1 Iughn e wETaRa v s
gIedEI@TE

(A) THTE (B) &9

Q)& (D) iy

(E) Srgaiiea U [B]

Choose the most appropriate word to
complete the given sentence:

A teetotaller is one who abstains
alcohol.

(A) with (B) from

(C)on (D)in

(E) Question not attempted [A]

Choose the most appropriate Hindi word
for the given word: REGULATION

(A) gecTE (B) fffam=

(C) et (D) Sfrgor

(E) Question not attempted [B]

P d & - o™ F1 vus g uie aTeR
i §?
e A @ 9@ Suges Reer g
(A) STaTER TR UAfaSTell UTeR A
(B) BTES1 ¥4l UTeR &iie
(C) e} T AR BIEEH UR Wie
(D) GZATE UHd UTR R
(E) 3raRd Uy
&g "1eH #, KMnO, &1 Jeaidh MR 8-
(A) 1/ (31.60) (B) /(26.33)
& 6

(C) M (158.00) (D) M (52.66)

3
(E) SrfRa ust

[D]

[A]

CHsCOOC;Hs + H,0 — CH;COOH + C;H;0H
FWR § ¢ srfferar F sl dife " Ik
& wifa et e 22

(A) H,0 (B) CH:COOH

(C) C;HsOH (D) CH3COOC;Hs

() Srgaiea ot [B]
Zn + CuSO4 — ZnSO,4 + Cu

FwR & sfufera & W siferfigpa gt @1 &2

(A) ZnSO, (B) Cu

(C) CuSO, (D)Zn

(E) 3rFaiRa o [D]
Tepfaras a8 frafafea o agas 8 -

(A) FuictaeH (B) it

(C) Jmganfa (D) &A1-T (Buna-N)

(E) SR w1 [c]

130.

131.

132.

133.

134.

135.

136.

Frdfren dfirerl &t dhaer Shfaa shal @ & ura
frar s wahar & AR S wgtaen § Hhw
fafdaf Zrr deafta =g fomar =1 @t 81 T8
HEATd §:-
(A) aleR Rigid (B) A - arfe fargia
(C) gregtanr frgia (D) fowaia g

(E) SrgaRa war
wﬁ-laﬁqzﬁ-llﬂg&haaﬁﬁm
g1 (a0 &) -1 (wum)
a. R I. 3R

I1. e

I11. @t

Iv. gt
¢ fAemeat & @ walfdes Sugea SR

(B]

E)eﬁﬂﬁaw [B]
uah uTg & Fohew o+fta wiTeies & wu A 81 taheh

aﬁﬁaﬂaﬂmﬁuaia;z.saﬁ & T uTg @
u9d 7.20 gm/cm® §1 100 um urg ¥ Qoheh
o H dem w7

(A)5x 102 (B)2 x 10%

(€)3x10% (D)6 x 10

(F) rpaRa usr
mm3hamaﬁm(nehw)aﬂ%t%qm
g,SRO)mmmaﬁﬁuzmmm

(A) GSLV MK2
(C) GSLV
(E) SrgaRa [D]
A= & ag arar ot AFE wifd & qur @
Hﬂa#aﬂ?ﬂ%aa:ﬁm’fm muTRd 8-
(A) gulle
qmﬁﬁ@l/mam?—ﬂvﬁ
C) A /Sfead
(D) ArafaT=/dyaietst
(E) 3rgiRa o [A]
w19 F1 fié) a1 foredt oft wer Sen @ demeor seran
AT @ at A g 8-
(A) udta g0
C) iiwwm

() SrTaRa us [A]
Choose the most appropriate passive
form of the given sentence:
People must not leave bicycles in the hall.
(A) Bicycles must not be left in the hall.
(B) The bicycles are not to be left in the hall
by the people.

(B) GSLV MK3
(D) LVM3-M4

(B) SHhH Gl
(D) wtermef Gapvor
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138.

139.

140.

141.

142.

(C) The hall must not have any bicycles of
people.

(D) Nobody should leave bicycles in the hall.
(E) Question not attempted [A]

Choose the most appropriate option to fill
in the blanks:

It was windy morning but they
still hired boat and went for

sail along coast.

(A) the, a, X, a (B) the, x, x, the

(Q)a, a, a, the (D) a, X, a, the

(E) Question not attempted [€]

Choose the most appropriate options to
fill in the blanks:
my friends are busy tonight.

of them are writing an exam the
next day, but of them were still
ready to party and so far of them
of them have confirmed.
(A) most, none, all, some
(B) none, most, all, none
(C) All, most, some, none
(D) Some, some, some, all

(E) Question not attempted [C]
‘TR & ITEHR H 7 AAR aen’ & g v a

g-
(A) Fad (B) gefre
(D) G

(C) e

(E) Srgaid us

i1 @t gft-11 @ gifora Hifdrg:

-1 (ETR) Tei-11 (319)

a. G - U1 U &1 1. el & e
b. TS FTeMT I1. ST afRsm el
C. ST R HeT I1I. g9 IR 7@

d. STeR I 1V, SUHH T I1d &Rl

9 e o et & @ qaifde Sugaa s
P

(AN TIBMENdV(B) a-11L, b-1, ¢-11, d-Iv

(C) a-11, b-1, c-III, d-IV(D) a-1, b-1V, c-II, d-1II

(E) g o [A]
3T 7 3%, 5% 3R 7% ufa adf it 37 @ Fraro
=t Y A e 3rem gisrneit d g € 7,100
o1 fAder feran| ues adf & siq o 3@ 4t aterarat
# TuE & e 5% wR PRy i 1 =R

[D]

(A) ¥ 2,500 (B)¥ 2,100

(C) ¥ 1,500 (D) ¥ 3,500

(E) SraRd v [B]
102816 + 512 T 25% - 75 &1 % HT A 8-
(A) 4,910 (B)4,180

(C) 5,900 (D) 4,700

(E) SraRa us [B]

143.

144.

145.

146.

147.

148.

149.

150.

@it 2x + y = 4, x-y+1=0 vd x-31&1 § fAfdfa
Rt &1 s 8
(B) 4 af 373

(A) 3 3 gad |

C) 5 af gard (D) 2 arf gard

(E) orgaid ma [D]
aHe | sifsigey gar % niore fafe
Afanze bt (Reeww) @ du s g

(A) T&TF 7Y

(B) 4% et

(E) SrgeRa e [C]

() Qo (A )
(C) goerd

(E) o< @ Uy [A]
Frafafea & aed sifde dsht @ Sig-sueq
ﬁmﬁa’m?"

anr{éi%%

(C)ermtﬁraarsﬁ

(D) 3 & S

(E) SrgaiRa o [B]
frafof@a & & sl sraes I= @ v
& Ueh @ AR & &t Aae st § gfRafda s &ar

(C) gier

(D) 3R
(E) Sraia oy [A]
whHhm i
(A) BRR & ¢afichet Melahia
(B)gmmgmﬁﬂmuﬁaﬂa
[C]
of T &1 He a1 AR Iga Fden, i
#f¥ar 2024' Fgt smaifSia fovar mar ur?
(A) TG (B) s
(C) Rers (D) Fh
(E) rfaRa u% [C]
f Rreiftes uga Sfiaa aret uge wrda afgen
EREEs  (8) Saw
(C) &a Tt (D) AT 3rraed
(E) SrfaRa u% [A]



